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Fiber 2053, dchi2frac= 1.0
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Fiber 954, dchi2frac= 1.0
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Fiber 4255, dchi2frac= 1.0
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Fiber 258, dchi2frac= 1.0
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Fiber 256, dchi2frac= 1.0
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Fiber 263, dchi2frac= 1.0
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Fiber 2616, dchi2frac= 1.0
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Fiber 2413, dchi2frac= 1.0
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Fiber 502, dchi2frac= 1.0
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Fiber 2649, dchi2frac= 1.0
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Fiber 4751, dchi2frac= 1.0
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Fiber 678, dchi2frac= 1.0
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Fiber 161, dchi2frac= 1.0
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Fiber 2586, dchi2frac= 1.0
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Fiber 2818, dchi2frac= 1.0
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Fiber 4673, dchi2frac= 1.0
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Fiber 2398, dchi2frac= 1.0
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Fiber 4277, dchi2frac= 1.0
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Fiber 100, dchi2frac= 1.0
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Fiber 4657, dchi2frac= 1.0
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Fiber 242, dchi2frac= 1.0
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Fiber 658, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
model

4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

6 4 2 0 2

Fiber 4002, dchi2frac= 0.9, EXCLUDED
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Fiber 87, dchi2frac= 1.0
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Fiber 244, dchi2frac= 1.0
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Fiber 4394, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

8 7 6 5 4 3 2 10

Fiber 393, dchi2frac= 1.0
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Fiber 2494, dchi2frac= 1.0
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Fiber 4603, dchi2frac= 1.0
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Fiber 562, dchi2frac= 1.0
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Fiber 4328, dchi2frac= 1.0
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Fiber 4675, dchi2frac= 1.0
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